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The figures in the margin indicate full marks
for the questions
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Choose the correct answer from the following :
(@) ST PTG FFT INCI SN o3 5% 23 2

Due to .which of the fOllOng factors
social problem occurs?

() oRepre s
Technological change
(i) JARAST 7
Economic imbalance
(i) AR Rgow
Social disorganization
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Deviation frqm- the. social ideal is called
social problem, which can be solved by

() IR aicoB
individpal effort .
(i) T aooRe wa, -
group effort
¥t
(iii) Wsﬁt zirs‘en m
government effort
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. Religious | attitude
, planmng aspect is asg
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(d) ‘Tenfiel i 9B wRE, e I e
@oe TR &F 9 o widie. Reh) A S1es
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“Alcoholism is a condition in fvhich an
individual loses control over his alcohol
intake in that he-is constantly unable to

refrain from drinking onge: he begins.”
This statement was made by

(i) @ER HF 9 ‘
Keller and Efron. .,
(i) Rers g
Richard Blum
- (i) A
Jhonson
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When did the ‘social secunty concept
develop?

problem of poverty o :;th Ze:tury
@) PR i o (i) St SIS -
Problem of unemployment 18th Century
(iif) Wm Rewrr e (iii) > *fSFre
Population explosion 19th Century
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() ‘Indian Red Cross Society’ 2= < (h) Sociology in Indian Society s =g
Indian Red Cross Society’ is a o
The author of the book, Sociology in
(i) TIPIA W5 Indian Society is
government organization (j *mIMe / Sankar Rao
(i) 9 HEw / Ram Ahuja
(i) CIRICRA 81w (iii) @b. (3. ®UPR / S. K. Bhattacharjee

voluntary organization
2. i ceien wReR Y O frr (2o 150 ™R
(i) S-SR Aot SeTO) trasie
semi-government organization Write short notes on any four (within 150
words each) :

(@) wepite wEfeT SR T

(9) TR @FWOR Rers AR I A= I AACw Economic problems of Scheduled Tribe

AR e 2 (b) = STRMER TR

Agai ok of
Mg;inst which of the following Raja Ram Problems of rural community
an Roy protesteq first? ) feseel Frmral
. c) FAIEE TP 2
() R R @ | Illiteracy as social problem
Wi .
'dow remarriage (d) FEE =R R
() IR Scope of social welfare
Child marriage (e) ANEE Farreq gy
(i) 9 Importance of social security
' Sati Dap () AEE TR TE B e

‘Government’ as agent of socia] welfare
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3. BB R ¥ew forn, ofechi wew oM i Ye—= / Part—2
(2fSc51 500 *”3 o) : - |

Answer four questions, taking two from each
Part ( within 500 words each) :

| (@) TR omeR RE A sHews A
FANR QY TS S T 4+10=14

Define social welfare. Discuss about the
importance of social welfare in India.

Ye—)> / Part—1

CRGRCE G B R TR emw{i}

| (p) R TNEE FeWR e R Rogsd
Roma w11 4+10° 0| 14
. i - )‘ . ﬁ
' What i ‘ il s ]
2 An alyz;s';tsnt;fpa;t by social probl¢m? : Analyze the background of social welfare
LB ' ' in India.
: L ; . Iy |
(b) 5?‘|i\"q-\"‘°fﬁ5'7 5| QQ'E s o
T 71 ST T R T RAA | () e FrIeTSR S 2rmt T 1 T4 B o
Wh | 4+10° FIRerE R ScEm 40 ! 4+10=14
'What 'is  the meaning of corruption? the meaning of ial ]
Explain the causes of corrupti i Express the e & ol soclal security.
social problem in Indig ption as ma;of Discuss its origin and development.
(©) refes erests Pryseer W“ m’m & (d) SRS T ~BeNe TR e e
S SIRCTRT | ' ' S TR NLIPTZ I T 14
’ Ly . - . .
Discuss the ‘ _ ) Explain the differences between social
contemporary ﬁ:g?;ems :‘_)f Chll‘}h'e{l 1 security and social welfare in the context

of Indian Society.

(d) TET Sdy TS AR .
I T .
TP Ry Re w1 ool
{\nalyzg the proble

. ms faced by the women |
m cgnt?mporary Indian SoéiZty. R
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